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OEadl & A2t 2| 16,928
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-=5 Y 60,240& 2H x21F 2,531
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201 et 161,652 154,696 6,956
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O1.48t==H| 22,100
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—SZEXNETAIY BN S0 20,000& 1508 3,000
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—AGAIEONEH =5 700,000 x23| 1,400
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01 Al&H| 24,000 100,000 A 76,000
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4,000,000 * 1A 4,000
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OZalEAI HLOotM XIS 14,000,000& = 1Al 14,000
402 SI2FXHE0| ™ 520,000 20,000 500,000
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405 XH&HF S HI 9,100 1,600 7,500
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B2l Z&X] 22,000 15,000 7,000
201 gBt2Ad| 22,000 15,000 7,000
01 AP 22| H| 8,000 8,000 0
O1. 482 H| 8,000
-SiHel Z&X =24 8,000,000 8,000
03 A2 G HI 14,000 7,000 7,000
Ootidel Z&X 7,000,000 *23| 14,000
ST HUAHAIE A 24 294,052 302,601 N 8,549
101 Q124 H] 45,743 70,870 N25,127
04 JI2ZtHIZ22NEE S 45,743 70,870 N25,127
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O3.2d=¢ 980
~=IINYUAY SYARE B9 +g
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130,000& 6 780
S HYHAMSEA2E HM3E 35,0008 +6H 210
O5.2&Hl 5,760
SO HUUASE A Al2tA2 2K S 4
8,000& x6H 10 x12& 5,760
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O1.det==2Hl 4,000
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OdEINHE SHNY 4=
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OFAY s8igdns e
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Od=gel sEIiY Mz
20,000 100 2,000
OSAl S8 WSBH L 27
100,000& * 15E »23| 3,000
301 et a3z 54,300 48,325 5,975
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307 2I2t0| & 24,000 0 24,000
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LB AH| 39,204 37,220 1,984
01 AR 22l ] 39,204 37,220 1,984
O1.48t=2H 19,250
== R BME=ES | 2,700,000& 2,700
-Moll =& ol Al ) XH M &
4 5009 x2,9008 13,050




=
[[s}

0
Kio o o
o
mu_ % m ™» | o |
= S o %S
||
WH3r =N k=]
wikEd © 3 218
7= © | o NN I
NN
o o
ss8888g8 g 8
S N = S o o
™ 0 ™ -~ T~ - =2} F S o <
— ol — o™ - R o0 O [aX I <s) o < o
Ir @ N — - SRR m Q o w Q o
2 - -~ o Bl3|8 3 < slgl|gs s
Edl Slels 2 I ogls g8 gle|zg|g g
s NI I B R e R S 28 8
—|lgo|o - © S K S 3
LI & @ —_ - - N ©
o~ — - ~
— ©
- [
S e -
= e e 2 o mw o] ol
il % o =B T2 % & g o
0 5 B A B0 BB x B ? o GO B -
S Y < @ ® &0 pu o " S [92) Fall] p
m =S x =¥ e <z o oll o S % 3 80
= o % o i * ¥ o ] i) ¥ 0 © S [ of ol
N [ER S W S o ] & - RS - o g * @ e ® o
IS <) oF — * oF) ¥ o o
i &g 8 8 g 8 B g © g ¥ g n O g = T 7
= . g s g g 2 o & =& 8 8 w 58 o 8 P R
El [N ® S . 8 S <o o - 8 S S W W o5
1] S 0 S S 4R ® 3 [ R0 < = S ; < - B3 2 8 N &
T 5 T8 = ¢ Z mg 8 = ;8 EF > _8 2 =% 888
< | < ow o= 2 = RORT = us = o w FE g Wg
- A0 + o = mTB _Mn a0 W= W S + = = U=
= [or < "0 J D — = El - Q = o <
A [E o o A o = o a2 N (Ui a U RILOER 5
g o ﬂ iy wu oo N a W oo W m ™ % E =
- . 0 o = I = o o s
ol mrow = o oo w3, 5 B owb
3w tw¥ila w r " Ty g3 o A
H. m*_.m oL or ~ oD o) Kl Y ] M_ i H o 2 __ﬂ o o Ko 50 0 Ol <+ oXo
"l j R o < W) a1 s © W5 - i )] 2 5 o N R ir
%0 Se B s W 1o o al Ko — o _ 140 Ho ol ] D RIENE]
S P ! 0 Tl < a _ =z = m|H a A | o W RDOA
: o Dw Twow TR % = |w|D N3 olsls o ~n o =mA Y
T O | _ s 5 |nla = 8 o |0 |m = W R
I © L - 4B W sad B 2y i
=|Fe0 o R A O = oo R &
S |5 ® O O W = T
IS¢ - |® Ao X O ! o ;
S| e | == muv
I |&|°
Ho




Lo o o o o o o o
N~ o o © © © o o
S S s S oo ==
il © — |- S
Klo
E
E=]
o o o o o o o o
™ Al Al [T9) Lo O (=]
— Y] Y] () o <t N~
Jl=l= < | < o |©
LH3r S
uilEd!
RS
o o o o) o o o o o o Ye) Yo) o o o o o o o o o o o o o o () (e) o o o o o
(<o) o (<o) N~ [eN] o o [eN] Al Al o [ep] o o o D [o6) o) o o o o o (o) (o) [Te) o) Lo o © o o o
©H - oIV FT I IS5 JFd|8 d|n|lojlesd s 85 S S @S| A D w|® & X
al -
<
=
o W oW I = I W o R0 il I o]
° 9 S & o = 2 © 2 3 5 S 2 ©
3 1 > * ? ko 2 < 3 * B0 0
o[ == EEE =53 - = g g 5 2 w3 2
X0 ™ ™ S S S » 5 © * S S o - ™ * *
¥ ¥ S S 3 (T L= o N * < & o 0o ®
B W o o o W ok o) o . ) 0 <l 80 k{0 S S
. » g g SR S m- g " 2 me L 8 g XE
ISERS - < ) 8 Rr " * " i —_° H#<e
3D <k - - — oo — o = — — Of) — o D o
- o o — « = [} ) op) 159 O - ©
* U ~ iy w W 8 Eo, ms = = Y
I oy 5 = ¢ o S 5 = o A = R
X & RO ok Ok =4 Y 11— | 20 )
~ | - O _ﬂn aK = 4 x o=
= |or = o 2 oor - _ = M ER
o = = 7S ok RJ ® M 10
S ) ok 0 w 0 e K o mﬂ o
%% el %%%m% G s |5 MMAT mm @ F | ® @
X K B0 ol AT w 2 8 |/ = 80 ) = 20 R
b o1 Ny o s |5 o0 | L m W S| W M E o
= |1 : ®or S < n D | D ol I U ) o |- n ol o
_.._.mﬁ | H0 D S Y A o | o) | O I © Mo r ~ gl 20 20
R0 Ho O O = | = ol | =< O O Z |z O O on O O
. al © | = — | = © | = —
o o o o o o o o
H [eV) [eV) [eV) (ep]




2N sEX3 L
HM: 5 sEgdNS(sEdlgdsa/sY - 52)
el sEHES K (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OBENe S4C0H RS84K 24
8,000& x100H 800
11 IIEtE &2 5,760 5,760 0
OAHIXS 2 TUHASAA AHIEA
10,0003 *4H » 12 x12& 5,760
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O=s=222304313 Tz AN X
8,100,000& * 14 4 8,100
401 Al B 2 0HHI 124,000 124,000 0
01 A& HI 124,000 124,000 0
OsE0t2 4382t 24 5,000,000 x40 2~ 20,000
Os&E0t2 54328 =4 13,000,000 *8H A~ 104,000
402 212t X 20| A 112,000 42,000 70,000
01 DI2F X2 AIE E X (XM TH ) 112,000 42,000 70,000
Osgol ARD A AlY
30,000,000 2 2~ %x70/100 42,000
OZAQ XNed SHE ALY
100,000, 000& 121 A %x70/100 70,000
HsHE=RH 262,216 120,646 141,570
101 @121l 91,282 0 91,282
04 JI2ZtH2Z2XNEE S 91,282 0 91,282
OFEA =2 s 91,282
AR=t=] 60,2403 *9H x20 6 & 65,060
=54 60, 240& x9Y x253 13,554
-Asastd 60,240& x9H 6 3,253
“AUEE JI22E3 81,867,000& *11.5% 9,415
201 L2 Y| 71,404 21,116 50,288
01 At 22/ 71,404 21,116 50,288
O1.28t=2H| 56,200
-HsHEAY & Let==ZHl 2,700,000 2,700
-ASHSAIEY W M 5,000& x700% 3,500
-AsHE 1HI EE 50,000,000 50,000
O3.8gdxy 2,900
-AsSHE SEs)F SEHE 2AEE 2,900
c Il 130,000& *10H x 1Al 2¢ 1,300
© o= 80,000 10 x2Al 2+ 1,600
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202 O4dl 3,200 3,200 0
< 960
Al 2,240
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< 6,645
Al 15,505
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Al 25,000
307 21201 A 5,000 0 5,000
Xl 2,500
Al 2,500
02 At FAAHEX 5,000 0 5,000
Os&E0iz2d SSH g5 218 223
5,000,000& 104 & 5,000
Xl 2,500




SN SEXNED
HE: 59 SELUNA(SYHYSM/5Y - 5&)
ol Mesedle XTIl X4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,500
402 BI2FX=01 M 45,000 0 45,000
X 22,500
Al 22,500
02 QI EAILEZ (01X S) 45,000 0 45,000
OsE0Z2N SXME AFAY
45,000,000 =104 & 45,000
Xl 22,500
Al 22,500
S SSUFTCAEFNEANE (SABINSHE 80,000 0 80,000
INEES)NESY)KEX>
Xl 40,000
Al 40,000
402 RIZFXt20l ™ 80,000 0 80,000
Xl 40,000
Al 40,000
02 RIZt X2 AL EZ (01X ) 80,000 0 80,000
OsJte eledss WEE 433 HEAZ
80,000,000 14 & 80,000
Xl 40,000
Al 40,000
ARsg(HsHE)EEZASUSIR (A2 )EX> 60,000 60,000 0
= 30,000
Al 30,000
301 et a = 60,000 60,000 0
= 30,000
Al 30,000
MIIEEdS3 60,000 60,000 0
OFsA A=d Baz 800,000& x10H «5& 40,000
= 20,000
Al 20,000
OA=sk HE 43 400,000 x10ZE «5& 20,000
= 10,000
Al 10,000
ARsgo(HAsAHENIZE S22 (AZ2)(AsA 35,000 16,000 19,000
EUS2Y)<EE>
= 17,500
Al 17,500
201 Let249H] 15,440 9,520 5,920
= 7,720
Al 7,720
01 At 22l 15,440 9,520 5,920
O1.LEt==ZH| 3,680
-AsSHE UE2E =EH| 1,880,000 1,880
2 940
Al 940
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2N sEXNEY
HE: 59 SELUNA(SYHYSM/5Y - 5&)
gel: d2sglls NTJlg &4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-AsHELSE UM MEH
15,000& 40«31t & 1,800
= 900
Al 900
03.2g8=¢ 11,760
-AsHEUSE ZA+E 11,760
SEZAMOI2) 250,000& 83| *3 10t & 6,000
= 3,000
Al 3,000
SYAA(ZD)
120,000 *83| *2 Al 2+ 3t & 5,760
= 2,880
Al 2,880
206 = Hl 6,600 2,720 3,880
= 3,300
Al 3,300
01 M2 4l 6,600 2,720 3,880
OAs=sHEUE M2+
27,5003 *40F »31t & *23| 6,600
= 3,300
Al 3,300
301 et a = 12,960 3,760 9,200
= 6,480
Al 6,480
09 &AL HIZB A S 12,960 3,760 9,200
OFsHEUS S84 F4X Kl
20,000 *40H »31t & *23| 4,800
= 2,400
Al 2,400
OAsHELUSE HA&X As AT O
60,000 »40H 310t & 7,200
= 3,600
Al 3,600
OASHEDE BAT A
8,000 »40H 310 & 960
= 480
Al 480
HY2AZH (s=XJA ) (IIEH/IIEL) 355,390 272,831 82,559
ol 2 gl 183,798 122,117 61,681
AFA2AH| 91,931 45,333 46,598
101 @124 Hl 91,931 45,333 46,598
02 JIEtE 2 == 91,931 45,333 46,598
OBt IIM (B2 :=JIHSHE =2l) 50,674
-2 37,577,000& x1H 37,577
bEsy 960
PN} 40,0003 x1H =128 480
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2N sSEXNSEL.
M HE2IHH (&R D) (IIEH/IIE
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
° JIEHHSE 20,0003 x2H 128 480
“ANZ2t 22 E 8,980& « 1 «40Al 2tx 1228 4,311
ESE=RE]| 140,000 x1H x 123 1,680
—H A S A 130,000& 1H 128 1,560
-tHere syl 50,000 x 18 128 600
~fuaesg
1,050,760% «1/26%150%*4 2 «12& 2,910
- JtE &t
35,740,000% «1/12%84%*86%*1/30« 15 1,076
OAMZHEHAINM ('t S:sIAHL UL %=2l) 41,257
- 35,823,000& 12 x35/40 31,346
-hEE 960
bH < Xt 40,0003 x 18 «12& 480
JIEHILE 20,0003 »2H » 128 480
-AHHEHEE+E 467,080& 1«43 1,869
e R=ge== ] 140,000 » 12 x 128 %35/40 1,470
- A G AH 130,000& 1H 128 1,560
-tHere sl 50,000% =1 = 12& «35/40 525
“AZ2te 28 g 8,980 x1H «10Al 2tx 122 1,078
- JtE &I
31,346,000 *1/12%84%*86%*1/30%1/7x105Al 944
2t
SR 125,380& 1H 128 1,505
FAHE2H 91,867 76,784 15,083
101 14l 91,867 76,784 15,083
03 RIAHAAZ 2R 91,867 76,784 15,083
OsJl A ==¢l 91,867
-Jlga 1,571,820 «2H «12& 37,724
-2HJtel= 60,0003 x2H 128 1,440
-4 03 1,571,820 & 29X x450% 14,147
-E2=E 1,571,820 »2H »50%*23] 3,144
- E F Ot 1,571,820 & x2H x120% 3,773
- U A 130,000& «2H 128 3,120
-wE 22| 70,0003 x2H 128 1,680
—2HAlH| 50,000 x2H » 128 1,200
-AABS =& 50,0003 x2H 128 1,200
-Al=g 50,000 x2H 128 1,200
- 40,0003 x2H 128 960
AR 1,571,820 x2H »10%* 12& 3,773
-AX==E 83,4103 x2H 24 4,004
S22 83,4103 2F +150%x4L <123 12,012
-tESE 90,000& x2H 128 2,160
-Ig=s 130, 000& »2H 260
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